	,		I	BIDI	DER 1	BID	DER 2	BIDDER 3		BIDDER 4		BIDDER 5		BIC	DDER 6
					cola & Sons ting, Inc.	TISEO PAVI	NG COMPANY	Texas Sterling	Construction, Co.	McMahon (	Contracting LLP	Flow Line	e Construction	F&H C	onstruction
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	BID - PAVING IMPROVEMENTS														
P1	Mobilization (5% MAX)	1	LS	\$365,000.00	\$365,000.00	\$277.000.00	\$277,000.00	\$400,000.00	\$400,000.00	\$405,195.00	\$405,195.00	\$400,000.00	\$400,000.00	\$484,500.00	\$484,500.00
P2	Preparing ROW (including tree removal)	1	LS	\$100,000.00	\$100,000.00		*	\$200,000.00	\$200,000.00	*	\$122,273.57	\$27,000.00	\$27,000.00	•	\$150,000.00
P3	Traffic Control	1	LS	\$50,000.00	\$50,000.00	\$94,000.00		\$100,700.00	\$100,700.00	*	\$66,325.97	\$106,000.00	\$106,000.00		\$200,000.00
P4	Project Sign	2	EA	\$600.00	\$1,200.00	\$535.00	\$1,070.00		\$900.00	\$495.41	\$990.82	\$1000.00	\$2,000.00	\$1500.00	\$3,000.00
P5	Changeable Message Sign	2	EA	\$5000.00	\$10,000.00	\$18300.00	\$36,600.00	\$11000.00	\$22,000.00	\$8700.00	\$17,400.00	\$17000.00	\$34,000.00	\$16500.00	\$33,000.00
P6	Temp Asphalt Pavement 4" SP-B PG64-22	165	TONS	\$150.00	\$24,750.00	\$204.00	\$33,660.00	\$140.00	\$23,100.00	\$246.70	\$40,705.50	\$150.00	\$24,750.00	\$200.00	\$33,000.00
P7	LPCB Type 1/2 (Furn and Install/Move/Maintain/Remove)	600	LF	\$30.00	\$18,000.00	\$78.75	\$47,250.00	\$42.00	\$25,200.00	\$44.27	\$26,562.00	\$90.00	\$54,000.00	\$105.00	\$63,000.00
P8	Remove Existing Striping and Signs	1	LS	\$12500.00	\$12,500.00	\$21000.00	\$21,000.00	\$7000.00	\$7,000.00	\$23194.20	\$23,194.20	\$14000.00	\$14,000.00	\$15000.00	\$15,000.00
P9	Removing Concrete (Pav)	2,127	SY	\$10.00	\$21,270.00	\$5.25	\$11,166.75		\$10,635.00	\$6.94	\$14,761.38		\$34,032.00	\$20.00	\$42,540.00
P10	Remove Concrete Pavers and Slab	27	SY	\$20.00	\$540.00	\$15.75	\$425.25		\$405.00	\$12.12	\$327.24		\$486.00	\$20.00	\$540.00
P11	Removing Stab Base and Asph Pav (2"-6")	30	SY	\$20.00	\$600.00	\$15.75	\$472.50	\$15.00	\$450.00	\$12.81	\$384.30	\$21.00	\$630.00	\$20.00	\$600.00
P12	Removing Concrete (Sidewalk or Ramp)	86	SY	\$20.00	\$1,720.00	\$8.40	\$722.40		\$688.00	\$7.59	\$652.74		\$860.00	\$20.00	\$1,720.00
P13	Removing Asphalt Pav	482	SF	\$5.00	\$2,410.00	\$6.30	\$3,036.60		\$3,856.00	\$6.35	\$3,060.70	\$10.00	\$4,820.00	\$20.00	\$9,640.00
P14	Removing Structure (Barricade)	189	LF	\$10.00	\$1,890.00	\$6.30	\$1,190.70		\$1,134.00	\$10.82	\$2,044.98		\$4,158.00	\$20.00	\$3,780.00
P15	Removing Structure (Guardrail)	277	LF	\$10.00	\$2,770.00	\$11.60	\$3,213.20		\$2,770.00	\$14.77	\$4,091.29		\$3,601.00	\$20.00	\$5,540.00
P16	Removing Structure (Headwall)	2	EA	\$10000.00	\$20,000.00	\$15750.00	\$31,500.00	\$4400.00	\$8,800.00	\$3961.57	\$7,923.14	\$21000.00	\$42,000.00	\$5000.00	\$10,000.00
P17	Removing Structure (Inlet)	3	EA	\$750.00	\$2,250.00	\$945.00	\$2,835.00	\$700.00	\$2,100.00	\$729.39	\$2,188.17	\$1,000.00	\$3,000.00	\$2,500.00	\$7,500.00
P18	Removing Structure (Pedestrian Rail)	291	LF	\$15.00	\$4,365.00	\$32.00	\$9,312.00	\$5.00	\$1,455.00	\$10.54	\$3,067.14	\$14.00	\$4,074.00	\$20.00	\$5,820.00
P19	Remove Existing Fencing	269	LF	\$2.00	\$538.00	\$2.00	\$538.00		\$2,690.00	\$3.48	\$936.12		\$807.00	\$5.00	\$1,345.00
P20	Unclassified Street Excavation Embankment (TY C1)	12,195 12,139	CY CY	\$10.00 \$2.00	\$121,950.00 \$24,278.00	\$10.10 \$16.80	\$123,169.50 \$203,935.20	\$10.00 \$16.00	\$121,950.00 \$194,224.00	\$16.34 \$13.73	\$199,266.30 \$166,668.47	\$22.00 \$13.00	\$268,290.00 \$157,807.00	\$15.00 \$25.00	\$182,925.00 \$303,475.00
P21	4' Thick Moisture Conditioning	16,233	SY	\$5.00	\$81,165.00	\$3.75	\$60,873.75		\$64,932.00	\$14.39	\$233,592.87	\$13.00	\$470,757.00	\$10.00	\$162,330.00
P22	8" Thick Lime Stabilized Subgrade (48#/SY)	18,198	SY	\$5.00	\$90,990.00	\$4.30	\$78,251.40		\$72,792.00	\$3.92	\$71,336.16		\$90,990.00	\$4.00	\$72,792.00
P23 P24	Lime for Subgrade Stabilization	437	TONS	\$170.00	\$74,290.00	\$253.00	\$110,561.00		\$91,770.00	\$185.60	\$81,107.20		\$86,089.00	\$180.00	\$72,792.00
P24 P25	Moisture Barrier (10 mil POLY)	3,066	SY	\$2.50	\$7,665.00	\$4.75	\$14,563.50		\$18,396.00	\$4.86	\$14,900.76		\$9,198.00	\$5.00	\$15,330.00
P25 P26	9" Thick Reinf Concrete Pavement W/6" Mono Curb	15,033	SY	\$57.85	\$869,659.05		\$799,003.95		\$1,127,475.00	\$59.53	\$894,914.49		\$1,052,310.00	\$65.00	\$977,145.00
P27	7" Thick Reinf Concrete Driveway (HES)	812	SY	\$75.00	\$60,900.00	\$94.50	\$76,734.00		\$71,456.00	\$85.05	\$69,060.60			\$85.00	\$69,020.00
	10" Thick Concrete Pavement (HES) w/ 6" Mono Curb	337	SY	\$220.00	\$74,140.00	\$135.00	\$45,495.00		\$54,594.00	\$94.20	\$31,745.40		\$40,440.00	\$100.00	\$33,700.00
P28	The Thick Consists I avoid the (TEO) with a mone care	001	"	Ψ220.00	ψ/ 1,1 10.00	ψ100.00	Ψ10,100.00	ψ102.00	ψο 1,00 1.00	ψο 1.20	φσ1,7 10.10	Ψ120.00	Ψ10,110.00	ψ100.00	φοσ,7 σσ.σσ
P29	6" TxDOT Flex Base (TxDOT Item 247, Ty D, Gr 1 or 2)	337	SY	\$50.00	\$16,850.00	\$28.00	\$9,436.00		\$8,088.00	\$23.19	\$7,815.03		\$9,773.00	\$18.00	\$6,066.00
P30	6" Concrete Sidewalk	3,713	SY	\$50.00	\$185,650.00	\$61.00	\$226,493.00		\$185,650.00	\$54.69	\$203,063.97		· ·	\$58.00	\$215,354.00
P31	Curb and Gutter	939	LF	\$35.00	\$32,865.00	\$20.00	\$18,780.00		\$30,048.00	\$13.33	\$12,516.87		\$35,682.00	\$35.00	\$32,865.00
P32	ADA Wheelchair Ramps (Type 7)	21	EA	\$2000.00	\$42,000.00	\$1950.00	\$40,950.00	\$2000.00	\$42,000.00	\$2204.00	\$46,284.00		\$67,200.00	\$2000.00	\$42,000.00
P33	TxDOT Ty E Pedestrian Handrail (PRD-13)	596	LF	\$75.00		\$125.00	\$74,500.00		\$63,772.00	\$97.45	\$58,080.20	\$52.00	\$30,992.00	\$125.00	\$74,500.00
P34	Monolithic Median Nose Type 1	4	EA	\$2500.00	\$10,000.00	\$700.00	\$2,800.00	\$1200.00	\$4,800.00	\$1925.60	\$7,702.40	\$2600.00	\$10,400.00	\$2500.00	\$10,000.00
P35	Median Nose	6	EA	\$2,000.00	\$12,000.00	\$1,620.00	\$9,720.00		\$5,400.00	\$1,194.80	\$7,168.80		\$19,800.00	\$2,500.00	\$15,000.00
P36	Median Brick Pavers	2,901	SF	\$13.00	\$37,713.00	\$14.00	\$40,614.00		\$34,812.00	\$11.89	\$34,492.89			\$16.50	\$47,866.50
P37	Median Maintenance Ramp	6	EA	\$1500.00	\$9,000.00	\$400.00	\$2,400.00		\$15,000.00	\$1624.00	\$9,744.00			\$2500.00	\$15,000.00
P38	Adjust Exist Sanitary Sewer Manhole and Replace w	1	EA	\$2000.00	\$2,000.00	\$1600.00	\$1,600.00		\$1,100.00	\$1,740.00	\$1,740.00		\$2,800.00	\$6500.00	\$6,500.00
P39	Panel Replacement (HES)(Full Depth)(Includes Removal)(Allowances)	400	SY	\$220.00	\$88,000.00	\$200.00	\$80,000.00	\$470.00	\$188,000.00	\$142.74	\$57,096.00		\$67,200.00	\$150.00	\$60,000.00
P40	Median Mowing	4	EA	\$400.00	\$1,600.00	\$1600.00	\$6,400.00		\$7,600.00	\$1160.00	\$4,640.00		\$12,000.00	\$2000.00	\$8,000.00
P41	Adjust Existing Water Valve	1	EA	\$500.00	\$500.00	\$420.00	\$420.00	\$1000.00	\$1,000.00	\$3099.92	\$3,099.92	\$300.00	\$300.00	\$750.00	\$750.00

	KED BY: Danny Everett, P.E. 01/21/2019			BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6	
				Mario Sinac Excavat		TISEO PAVI	NG COMPANY	Texas Sterling	Construction, Co.	McMahon C	ontracting LLP	Flow Line	Construction	F&H Co	onstruction
P42	IN SMALL ROAD SIGN SUP&AM TY10BWG(1)SA(P)	21	EA	\$485.00	\$10,185.00	\$490.00	\$10,290.00	\$450.00	\$9,450.00	\$539.40	\$11,327.40	\$510.00	\$10,710.00	\$650.00	\$13,650.00
P43	IN SMALL ROAD SIGN SUP&AM TY10BWG(1)SA(T)	6	EA	\$560.00	\$3,360.00	\$580.00	\$3,480.00	\$450.00	\$2,700.00	\$638.00	\$3,828.00	\$600.00	\$3,600.00	\$650.00	\$3,900.00
P44	Pavement Marking (Word)	10	EA	\$155.00	\$1,550.00	\$160.00	\$1,600.00	\$180.00	\$1,800.00	\$174.00	\$1,740.00	\$170.00	\$1,700.00	\$250.00	\$2,500.00
P45	Pavement Marking (Arrow)	18	EA	\$150.00	\$2,700.00	\$160.00	\$2,880.00	\$145.00	\$2,610.00	\$174.00	\$3,132.00	\$160.00	\$2,880.00	\$250.00	\$4,500.00
P46	Pavement Marking 4" Broken White	5,400	LF	\$1.10	\$5,940.00	\$1.10	\$5,940.00	\$1.15	\$6,210.00		\$6,588.00	\$1.00	\$5,400.00	\$1.00	\$5,400.00
P47	Pavement Marking 4" Solid White	3,435	LF	\$1.10	\$3,778.50		\$3,778.50		\$3,950.25		\$4,190.70	\$1.00	\$3,435.00	\$1.00	\$3,435.00
P48	Pavement Marking 4" Solid Yellow	1,068	LF	\$1.10	\$1,174.80	\$1.10	\$1,174.80		\$1,228.20		\$1,302.96	\$1.00	\$1,068.00	\$1.00	\$1,068.00
P49	Pavement Marking 8" Solid White	3,140	LF	\$2.20	\$6,908.00	\$2.10	\$6,594.00		\$6,280.00		\$7,284.80	\$2.50	\$7,850.00	\$6.00	\$18,840.00
P50	Pavement Marking 12" Solid White	2,546	LF	\$3.30	\$8,401.80	\$4.20	\$10,693.20	\$4.25	\$10,820.50	\$4.64	\$11,813.44	\$3.50	\$8,911.00	\$8.00	\$20,368.00
P51	Pavement Marking 24" Solid White	348	LF	\$6.60	\$2,296.80	\$6.30	\$2,192.40	\$7.75	\$2,697.00	\$6.96	\$2,422.08	\$7.00	\$2,436.00	\$20.00	\$6,960.00
P52	Reflective Pavement Marker TY II C-R	383	EA	\$4.00	\$1,532.00	\$4.20	\$1,608.60	\$3.75	\$1,436.25	\$4.64	\$1,777.12	\$4.00	\$1,532.00	\$15.00	\$5,745.00
P53	Work Zone Pavement Markings	1	LS	\$1800.00	\$1,800.00	\$5250.00	\$5,250.00	\$25000.00	\$25,000.00	\$1044.00	\$1,044.00	\$45000.00	\$45,000.00	\$45000.00	\$45,000.00
P54	Inlet Protection Barrier (Install/Maint./Remove)	9	EA	\$170.00	\$1,530.00	\$150.00	\$1,350.00	\$80.00	\$720.00	\$348.00	\$3,132.00	\$160.00	\$1,440.00	\$250.00	\$2,250.00
P55	Silt Fence (Install/Maintenance/Remove)	6,785	LF	\$1.70	\$11,534.50	\$2.00	\$13,570.00	\$1.70	\$11,534.50	\$4.76	\$32,296.60	\$5.00	\$33,925.00	\$6.00	\$40,710.00
P56	Rock Filter Dams (Install/Maintenance/Remove)	135	LF	\$42.00	\$5,670.00	\$40.00	\$5,400.00	\$42.00	\$5,670.00	\$144.21	\$19,468.35	\$160.00	\$21,600.00	\$45.00	\$6,075.00
P57	Construction Ent./Exit (25'x60') (Install/Maint./Remove)	4	EA	\$3000.00	\$12,000.00		\$12,600.00	\$1975.00	\$7,900.00	\$63.53	\$254.12	\$3400.00	\$13,600.00	\$4000.00	\$16,000.00
P58	Remove and Replace Existing Fence	100	LF	\$30.00	\$3,000.00	\$37.00	\$3,700.00	\$30.00	\$3,000.00	\$16.24	\$1,624.00	\$13.00	\$1,300.00	\$30.00	\$3,000.00
P59	Storm Water Pollution Prevention Plan	1	LS	\$765.00	\$765.00	\$6000.00	\$6,000.00	\$4020.00	\$4,020.00	\$3277.00	\$3,277.00	\$45000.00	\$45,000.00	\$25000.00	\$25,000.00
TOTAL:	BASE BID - PAVING IMPROVEMENTS		•		\$2,611,844.45		\$3,079,794.20		\$3,325,768.70		\$3,074,623.16		\$3,776,672.00		\$3,724,204.50
14		•													
Item No.	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	BID - STORM SYSTEM IMPROVEMENTS	-	Unit												
No.	BID - STORM SYSTEM IMPROVEMENTS  Concrete Box Culvert (10' x 8')	338	LF	\$560.00	\$189,280.00	\$630.00	\$212,940.00	\$820.00	\$277,160.00	\$600.30	\$202,901.40	\$1160.00	\$392,080.00	\$1000.00	\$338,000.00
No. BASE B D1 D2	Concrete Box Culvert (7' x 5')	-			\$189,280.00 \$132,750.00	\$630.00 \$420.00									
No. BASE B D1 D2	BID - STORM SYSTEM IMPROVEMENTS  Concrete Box Culvert (10' x 8')	338	LF	\$560.00	\$189,280.00	\$630.00 \$420.00	\$212,940.00	\$820.00 \$475.00	\$277,160.00	\$600.30 \$411.36	\$202,901.40	\$1160.00	\$392,080.00	\$1000.00 \$650.00	\$338,000.00
No. BASE B D1 D2	Concrete Box Culvert (7' x 5')	338 354	LF LF	\$560.00 \$375.00	\$189,280.00 \$132,750.00	\$630.00 \$420.00	\$212,940.00 \$148,680.00	\$820.00 \$475.00 \$270.00	\$277,160.00 \$168,150.00	\$600.30 \$411.36 \$301.60	\$202,901.40 \$145,621.44	\$1160.00 \$675.00	\$392,080.00 \$238,950.00	\$1000.00 \$650.00	\$338,000.00 \$230,100.00
No. BASE B D1 D2 D3	Concrete Box Culvert (7' x 5')  54" RCP (CL III)	338 354 139	LF LF LF	\$560.00 \$375.00 \$280.00	\$189,280.00 \$132,750.00 \$38,920.00	\$630.00 \$420.00 \$273.00	\$212,940.00 \$148,680.00 \$37,947.00	\$820.00 \$475.00 \$270.00	\$277,160.00 \$168,150.00 \$37,530.00	\$600.30 \$411.36 \$301.60 \$139.20	\$202,901.40 \$145,621.44 \$41,922.40	\$1160.00 \$675.00 \$303.00	\$392,080.00 \$238,950.00 \$42,117.00	\$1000.00 \$650.00 \$450.00	\$338,000.00 \$230,100.00 \$62,550.00
No.  BASE B  D1  D2  D3  D4	Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)	338 354 139 1,564	LF LF LF	\$560.00 \$375.00 \$280.00 \$100.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00	\$820.00 \$475.00 \$270.00 \$130.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80	\$1160.00 \$675.00 \$303.00 \$132.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00	\$1000.00 \$650.00 \$450.00 \$90.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00
No.  BASE B  D1  D2  D3  D4  D5	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet	338 354 139 1,564 69	LF LF LF LF LF LF	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet	338 354 139 1,564 69	LF LF LF LF LF EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$4000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$4,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet  Remove Existing Type II Inlet w/Ext	338 354 139 1,564 69	LF LF LF LF LF EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$4000.00 \$750.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$4,000.00 \$750.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet  Remove Existing Type II Inlet w/Ext  Remove, Replace Existing Type C Drop Inlet and	338 354 139 1,564 69 95 8 1	LF LF LF LF LF EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$4000.00 \$750.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$4,000.00 \$7,500.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00 \$6,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$2500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00 \$15,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet  Remove Existing Type II Inlet w/Ext  Remove, Replace Existing Type C Drop Inlet and  MANH (COMPL)(TY M)	338 354 139 1,564 69	LF LF LF LF LF EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$4000.00 \$750.00 \$6500.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$4,000.00 \$750.00 \$19,500.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$5,400.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00 \$6000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$120,000.00 \$10,000.00 \$2,000.00 \$63,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00 \$15,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext  Remove, Replace Existing Type C Drop Inlet and  MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert	338 354 139 1,564 69 95 8 1	LF LF LF LF EA EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$4000.00 \$7500.00 \$6500.00 \$32000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$4,000.00 \$7,500.00 \$19,500.00 \$32,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00 \$6300.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$6000.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$10000.00 \$2000.00 \$21000.00 \$78000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00 \$6,000.00 \$63,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$2500.00 \$6500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00 \$15,000.00 \$19,500.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert	338 354 139 1,564 69 95 8 1 1 1 3	LF LF LF LF LF EA EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$120.00 \$110.00 \$7600.00 \$750.00 \$7500.00 \$6500.00 \$32000.00 \$68500.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$7,500.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00 \$6300.00 \$31500.00 \$84000.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00 \$84,000.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$6000.00 \$42000.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$87,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$6960.00 \$48065.79 \$87736.98	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$10000.00 \$2000.00 \$21000.00 \$78000.00 \$131000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00 \$6,000.00 \$78,000.00 \$131,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00 \$2500.00 \$2500.00 \$4500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00 \$15,000.00 \$19,500.00 \$45,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert Wingwall (PW) at 4-10' x 8' Box Culvert Decorative Headwall Stone	338 354 139 1,564 69 95 8 1	LF LF LF LF LF EA EA EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$4000.00 \$7500.00 \$6500.00 \$32000.00 \$68500.00 \$27.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$7,500.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00 \$6300.00 \$31500.00 \$84000.00 \$37.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00 \$84,000.00 \$74,000.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$6000.00 \$42000.00 \$87000.00 \$30.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79 \$87736.98 \$25.52	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$2000.00 \$2000.00 \$78000.00 \$131000.00 \$35.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$120,000.00 \$10,000.00 \$2,000.00 \$63,000.00 \$78,000.00 \$131,000.00 \$70,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$2500.00 \$15000.00 \$2500.00 \$4500.00 \$2500.00 \$2500.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$2,500.00 \$15,000.00 \$25,000.00 \$45,000.00 \$45,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext  Remove, Replace Existing Type C Drop Inlet and  MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone  Clean Existing Culverts and Storm Pipe	338 354 139 1,564 69 95 8 1 1 1 3 1 2,000 1	LF LF LF LF EA EA EA EA EA EA EA EA EA	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$750.00 \$750.00 \$6500.00 \$32000.00 \$68500.00 \$27.00 \$20000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$750.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00 \$20,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$6300.00 \$6300.00 \$31500.00 \$37.00 \$10500.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$18,900.00 \$31,500.00 \$84,000.00 \$74,000.00 \$10,500.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$5400.00 \$6000.00 \$42000.00 \$30.00 \$30.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00 \$30,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$130.00 \$15000.00 \$10000.00 \$2000.00 \$6000.00 \$78000.00 \$131000.00 \$35.00 \$53000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$120,000.00 \$10,000.00 \$2,000.00 \$63,000.00 \$78,000.00 \$131,000.00 \$70,000.00 \$53,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00 \$2500.00 \$4500.00 \$4500.00 \$35000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$15,000.00 \$15,000.00 \$25,000.00 \$45,000.00 \$35,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15  D16	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone Clean Existing Culverts and Storm Pipe Unclassified Channel Excavation	338 354 139 1,564 69 95 8 1 1 1 3	LF LF LF LF EA EA EA EA EA CY	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$4000.00 \$750.00 \$7500.00 \$6500.00 \$32000.00 \$68500.00 \$27.00 \$2000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$7,500.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00 \$20,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$6300.00 \$6300.00 \$31500.00 \$31500.00 \$10500.00 \$16.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00 \$74,000.00 \$10,500.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$42000.00 \$30.00 \$30.00 \$13.50	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00 \$30,000.00 \$91,125.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65 \$20.87	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65 \$140,872.50	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00 \$6000.00 \$78000.00 \$131000.00 \$35.00 \$53000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$120,000.00 \$120,000.00 \$2,000.00 \$63,000.00 \$78,000.00 \$131,000.00 \$70,000.00 \$53,000.00 \$175,500.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$2500.00 \$15000.00 \$2500.00 \$4500.00 \$35000.00 \$35000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$15,000.00 \$15,000.00 \$25,000.00 \$45,000.00 \$170,000.00 \$35,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15  D16  D17	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone Clean Existing Culverts and Storm Pipe Unclassified Channel Excavation Remove Existing Rock Riprap	338 354 139 1,564 69 95 8 1 1 1 2,000 1 6,750	LF LF LF LF EA EA EA EA CY LS	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$750.00 \$750.00 \$6500.00 \$32000.00 \$68500.00 \$27.00 \$20000.00 \$12.00 \$6000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$750.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00 \$81,000.00 \$6,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00 \$31500.00 \$37.00 \$10500.00 \$16.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$18,900.00 \$31,500.00 \$74,000.00 \$10,500.00 \$108,000.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$42000.00 \$42000.00 \$30.00 \$30.00 \$13.50 \$4400.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00 \$30,000.00 \$91,125.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65 \$20.87 \$5373.19	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65 \$140,872.50 \$5,373.19	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$10000.00 \$2000.00 \$6000.00 \$21000.00 \$78000.00 \$131000.00 \$35.00 \$53000.00 \$4000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$63,000.00 \$63,000.00 \$78,000.00 \$70,000.00 \$53,000.00 \$175,500.00 \$4,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00 \$2500.00 \$4500.00 \$35000.00 \$35000.00 \$20.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$15,000.00 \$15,000.00 \$45,000.00 \$170,000.00 \$35,000.00 \$135,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15  D16  D17  D18	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone Clean Existing Culverts and Storm Pipe Unclassified Channel Excavation Remove Existing Rock Riprap Grouted Rock Riprap (18")	338 354 139 1,564 69 95 8 1 1 1 2,000 1 6,750 1 1,573	LF LF LF LF LF EA EA EA EA CY LS SY	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$4000.00 \$750.00 \$7500.00 \$6500.00 \$32000.00 \$27.00 \$2000.00 \$12.00 \$6000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$7,500.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00 \$20,000.00 \$81,000.00 \$6,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$6300.00 \$6300.00 \$31500.00 \$31500.00 \$10500.00 \$10500.00 \$3200.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00 \$74,000.00 \$10,500.00 \$108,000.00 \$3,200.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$42000.00 \$30.00 \$30.00 \$13.50 \$4400.00 \$107.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$5,400.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00 \$30,000.00 \$91,125.00 \$4,400.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65 \$20.87 \$5373.19 \$78.42	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65 \$140,872.50 \$5,373.19 \$123,354.66	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00 \$6000.00 \$78000.00 \$131000.00 \$35.00 \$53000.00 \$4000.00 \$95.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00 \$63,000.00 \$78,000.00 \$70,000.00 \$53,000.00 \$175,500.00 \$4,000.00 \$149,435.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$2500.00 \$15000.00 \$2500.00 \$4500.00 \$2500.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$15,000.00 \$15,000.00 \$45,000.00 \$170,000.00 \$135,000.00 \$15,000.00 \$15,000.00
No. BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15  D16  D17  D18  D19	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  24" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext  Remove, Replace Existing Type C Drop Inlet and  MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone  Clean Existing Culverts and Storm Pipe  Unclassified Channel Excavation  Remove Existing Rock Riprap  Grouted Rock Riprap (18")  Tie into Existing Culvert	338 354 139 1,564 69 95 8 1 1 1 2,000 1 6,750 1 1,573 5	LF LF LF LF LF EA EA EA EA CY LS SY EA	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$110.00 \$7600.00 \$750.00 \$750.00 \$6500.00 \$32000.00 \$27.00 \$27.00 \$2000.00 \$12.00 \$6000.00 \$120.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$750.00 \$7,500.00 \$19,500.00 \$32,000.00 \$54,000.00 \$54,000.00 \$81,000.00 \$6,000.00 \$188,760.00 \$20,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$945.00 \$6300.00 \$31500.00 \$37.00 \$10500.00 \$16.00 \$3200.00 \$84.00	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$9,025.00 \$67,200.00 \$5,250.00 \$945.00 \$18,900.00 \$31,500.00 \$14,000.00 \$10,500.00 \$108,000.00 \$132,132.00 \$10,500.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$42000.00 \$30.00 \$30.00 \$13.50 \$4400.00 \$107.00 \$800.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$900.00 \$18,000.00 \$42,000.00 \$60,000.00 \$30,000.00 \$91,125.00 \$4,400.00 \$168,311.00 \$4,000.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65 \$20.87 \$5373.19 \$78.42 \$1755.98	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65 \$140,872.50 \$5,373.19 \$123,354.66 \$8,779.90	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$130.00 \$15000.00 \$10000.00 \$2000.00 \$2000.00 \$21000.00 \$78000.00 \$35.00 \$53000.00 \$4000.00 \$95.00 \$4000.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$63,000.00 \$63,000.00 \$78,000.00 \$70,000.00 \$131,000.00 \$131,000.00 \$175,500.00 \$4,000.00 \$149,435.00 \$20,000.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00 \$4500.00 \$4500.00 \$35000.00 \$15000.00 \$15000.00 \$15000.00 \$25000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$4,500.00 \$15,000.00 \$19,500.00 \$170,000.00 \$170,000.00 \$135,000.00 \$15,000.00 \$15,000.00 \$15,000.00 \$15,000.00
No.  BASE B  D1  D2  D3  D4  D5  D6  D7  D8  D9  D10  D11  D12  D13  D14  D15  D16  D17  D18  D19  D20	Concrete Box Culvert (10' x 8')  Concrete Box Culvert (7' x 5')  54" RCP (CL III)  30" RCP (CL III)  18" RCP (CL III)  20' Recessed Curb Inlet  10' Standard Curb Inlet Remove Existing Type II Inlet w/Ext Remove, Replace Existing Type C Drop Inlet and MANH (COMPL)(TY M)  Wingwall (PW) at 3-7' x 5' Box Culvert  Wingwall (PW) at 4-10' x 8' Box Culvert  Decorative Headwall Stone Clean Existing Culverts and Storm Pipe  Unclassified Channel Excavation  Remove Existing Culvert  Trench Excavation Protection	338 354 139 1,564 69 95 8 1 1 1 2,000 1 6,750 1 1,573	LF LF LF LF LF EA EA EA EA CY LS SY	\$560.00 \$375.00 \$280.00 \$100.00 \$110.00 \$110.00 \$7600.00 \$4000.00 \$750.00 \$7500.00 \$6500.00 \$32000.00 \$27.00 \$2000.00 \$12.00 \$6000.00	\$189,280.00 \$132,750.00 \$38,920.00 \$156,400.00 \$8,280.00 \$10,450.00 \$60,800.00 \$7,500.00 \$7,500.00 \$19,500.00 \$32,000.00 \$68,500.00 \$54,000.00 \$20,000.00 \$81,000.00 \$6,000.00	\$630.00 \$420.00 \$273.00 \$126.00 \$105.00 \$95.00 \$8400.00 \$5250.00 \$6300.00 \$6300.00 \$31500.00 \$31500.00 \$10500.00 \$16.00 \$3200.00 \$110.00 \$1.10	\$212,940.00 \$148,680.00 \$37,947.00 \$197,064.00 \$7,245.00 \$67,200.00 \$5,250.00 \$945.00 \$6,300.00 \$18,900.00 \$31,500.00 \$74,000.00 \$10,500.00 \$108,000.00 \$3,200.00	\$820.00 \$475.00 \$270.00 \$130.00 \$127.00 \$123.00 \$9000.00 \$5500.00 \$900.00 \$5400.00 \$6000.00 \$42000.00 \$30.00 \$30.00 \$13.50 \$4400.00 \$107.00 \$800.00	\$277,160.00 \$168,150.00 \$37,530.00 \$203,320.00 \$8,763.00 \$11,685.00 \$72,000.00 \$5,500.00 \$5,400.00 \$18,000.00 \$42,000.00 \$87,000.00 \$60,000.00 \$30,000.00 \$91,125.00 \$4,400.00	\$600.30 \$411.36 \$301.60 \$139.20 \$116.00 \$104.40 \$9425.00 \$4930.00 \$1044.00 \$6960.00 \$6960.00 \$48065.79 \$87736.98 \$25.52 \$10986.65 \$20.87 \$5373.19 \$78.42 \$1755.98 \$1.16	\$202,901.40 \$145,621.44 \$41,922.40 \$217,708.80 \$8,004.00 \$9,918.00 \$75,400.00 \$4,930.00 \$1,044.00 \$6,960.00 \$20,880.00 \$48,065.79 \$87,736.98 \$51,040.00 \$10,986.65 \$140,872.50 \$5,373.19 \$123,354.66	\$1160.00 \$675.00 \$303.00 \$132.00 \$130.00 \$94.00 \$15000.00 \$1000.00 \$2000.00 \$6000.00 \$78000.00 \$131000.00 \$35.00 \$53000.00 \$4000.00 \$95.00	\$392,080.00 \$238,950.00 \$42,117.00 \$206,448.00 \$8,970.00 \$8,930.00 \$120,000.00 \$10,000.00 \$2,000.00 \$63,000.00 \$78,000.00 \$70,000.00 \$53,000.00 \$175,500.00 \$4,000.00 \$149,435.00	\$1000.00 \$650.00 \$450.00 \$90.00 \$95.00 \$85.00 \$7500.00 \$4500.00 \$15000.00 \$2500.00 \$4500.00 \$2500.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00 \$15000.00	\$338,000.00 \$230,100.00 \$62,550.00 \$140,760.00 \$6,555.00 \$8,075.00 \$60,000.00 \$2,500.00 \$15,000.00 \$19,500.00 \$45,000.00 \$170,000.00 \$35,000.00 \$135,000.00 \$15,000.00 \$291,005.00

			BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6		
				Mario Sinacola & Sons Excavating, Inc.		TISEO PAVII	NG COMPANY	Texas Sterling	Construction, Co.	McMahon C	ontracting LLP	Flow Line Construction		F&H Co	onstruction
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	 BID - WATER SYSTEM IMPROVEMENTS														
W/4	Connect to Exist 12" Water Line	5	EA	\$3000.00	\$15,000.00	\$2100.00	\$10,500.00	\$2500.00	\$12,500.00	\$2320.00	\$11,600.00	\$5000.00	\$25,000.00	\$3500.00	\$17,500.00
VVI	Allowance of Lowering Existing 12" Line (Includes	6	EA	\$2200.00	\$13,200.00	\$2100.00	\$10,500.00	\$2000.00	\$12,000.00	\$2320.00	\$13,920.00	\$6000.00	\$36,000.00	\$15000.00	\$90,000.00
W2	removing steel casing as necessary)			Ψ2200.00	Ψ13,200.00	Ψ2 100.00	ψ12,000.00	Ψ2000.00	Ψ12,000.00	Ψ2320.00	Ψ13,920.00	Ψ0000.00	ψ50,000.00	ψ13000.00	ψ90,000.00
W3	Connect to Exist 30" Water Line/Remove Exist Plug	1	EA	\$6500.00	\$6,500.00	\$10500.00	\$10,500.00	\$10000.00	\$10,000.00	\$11600.00	\$11,600.00	\$11000.00	\$11,000.00	\$25000.00	\$25,000.00
W4	Ductile Iron Fittings (Allowance)	5	TONS	\$1000.00	\$5,000.00	\$1100.00	\$5,500.00	\$1000.00	\$5,000.00	\$1160.00	\$5,800.00	\$12000.00	\$60,000.00	\$8500.00	\$42,500.00
W5	6" PVC Water Pipe	39	LF	\$75.00	\$2,925.00	\$84.00	\$3,276.00	\$44.00	\$1,716.00	\$92.80	\$3,619.20	\$50.00	\$1,950.00	\$45.00	\$1,755.00
W6	12" PVC Water Pipe	480	LF	\$105.00	\$50,400.00	\$95.00	\$45,600.00	\$90.00	\$43,200.00	\$104.40	\$50,112.00	\$75.00	\$36,000.00	\$65.00	\$31,200.00
W7	20" Ductile Iron Water Pipe	10	LF	\$285.00	\$2,850.00	\$126.00	\$1,260.00	\$120.00	\$1,200.00	\$139.20	\$1,392.00	\$270.00	\$2,700.00	\$150.00	\$1,500.00
W8	24" Ductile Iron Water Pipe	6,158	LF	\$170.00	\$1,046,860.00	\$176.00	\$1,083,808.00	\$214.00	\$1,317,812.00	\$193.72	\$1,192,927.76	\$165.00	\$1,016,070.00	\$185.00	\$1,139,230.00
W9	30" Ductile Iron Water Pipe	6	LF	\$725.00	\$4,350.00	\$179.00	\$1,074.00	\$170.00	\$1,020.00	\$197.20	\$1,183.20	\$420.00	\$2,520.00	\$300.00	\$1,800.00
W10	Remove 12" PVC Water Pipe	95	LF	\$40.00	\$3,800.00	\$11.00	\$1,045.00	\$10.00	\$950.00	\$11.60	\$1,102.00	\$23.00	\$2,185.00	\$30.00	\$2,850.00
W11	4" Steel Casing By Other Than Open Cut	40	LF	\$175.00	\$7,000.00	\$210.00	\$8,400.00	\$200.00	\$8,000.00	\$232.00	\$9,280.00	\$600.00	\$24,000.00	\$250.00	\$10,000.00
W12	36" Steel Casing	131	LF	\$450.00	\$58,950.00	\$714.00	\$93,534.00	\$680.00	\$89,080.00	\$788.80	\$103,332.80	\$345.00	\$45,195.00	\$250.00	\$32,750.00
W13	36" Steel Casing By Other Than Open Cut	912	LF	\$725.00	\$661,200.00	\$790.00	\$720,480.00	\$750.00	\$684,000.00	\$870.00	\$793,440.00	\$700.00	\$638,400.00	\$750.00	\$684,000.00
W14	6" Gate Valve	6	EA	\$1000.00	\$6,000.00	\$2000.00	\$12,000.00	\$2850.00	\$17,100.00	\$2204.00	\$13,224.00	\$2100.00	\$12,600.00	\$3250.00	\$19,500.00
W15	12" Gate Valve	9	EA	\$2400.00	\$21,600.00	\$2625.00	\$23,625.00	\$2500.00	\$22,500.00	\$2900.00	\$26,100.00	\$3300.00	\$29,700.00	\$6500.00	\$58,500.00
W16	20" Butterfly Valve	1	EA	\$10750.00	\$10,750.00	\$9450.00	\$9,450.00	\$9000.00	\$9,000.00	\$10440.00	\$10,440.00	\$12000.00	\$12,000.00	\$12500.00	\$12,500.00
W17	24" Butterfly Valve	12	EA	\$12500.00	\$150,000.00	\$11550.00	\$138,600.00	\$11000.00	\$132,000.00	\$12760.00	\$153,120.00	\$14000.00	\$168,000.00	\$15000.00	\$180,000.00
W18	Remove Exist Fire Hydrant	1	EA	\$1500.00	\$1,500.00	\$950.00	\$950.00	\$900.00	\$900.00	\$1044.00	\$1,044.00	\$500.00	\$500.00	\$2500.00	\$2,500.00
W19	Reinstall Exist Fire Hydrant	1	EA	\$4750.00	\$4,750.00	\$1600.00	\$1,600.00	\$1500.00	\$1,500.00	\$1740.00	\$1,740.00	\$2000.00	\$2,000.00	\$4500.00	\$4,500.00
W20	Standard Fire Hydrant Assembly	3	EA	\$5750.00	\$17,250.00	\$3150.00	\$9,450.00	\$3000.00	\$9,000.00	\$3480.00	\$10,440.00	\$3800.00	\$11,400.00	\$4250.00	\$12,750.00
W21	4" Vacuum Air Release Valve and Manhole Per Detail	3	EA	\$14500.00	\$43,500.00	\$14700.00	\$44,100.00	\$14000.00	\$42,000.00	\$16240.00	\$48,720.00	\$18000.00	\$54,000.00	\$12000.00	\$36,000.00
W22	Remove 2" PVC Pipe	432	LF	\$10.00	\$4,320.00	\$6.00	\$2,592.00	\$5.00	\$2,160.00	\$5.80	\$2,505.60	\$13.00	\$5,616.00	\$20.00	\$8,640.00
W23	12" Plug	2	EA	\$300.00	\$600.00	\$420.00	\$840.00	\$400.00	\$800.00	\$464.00	\$928.00	\$800.00	\$1,600.00	\$1500.00	\$3,000.00
W24	20" Plug	1	EA	\$1000.00	\$1,000.00	\$945.00	\$945.00	\$900.00	\$900.00	\$1044.00	\$1,044.00	\$1800.00	\$1,800.00	\$2500.00	\$2,500.00
W25	24" Plug	1	EA	\$1500.00	\$1,500.00	\$1260.00	\$1,260.00	\$1200.00	\$1,200.00	\$1392.00	\$1,392.00	\$2000.00	\$2,000.00	\$3000.00	\$3,000.00
W26	Radio Frequency Identification (RFID) Markers	89	EA	\$100.00	\$8,900.00	\$53.00	\$4,717.00	\$50.00	\$4,450.00	\$58.00	\$5,162.00	\$83.00	\$7,387.00	\$400.00	\$35,600.00
W27	RFID Locator	1	EA	\$3500.00	\$3,500.00	\$2100.00	\$2,100.00	\$2000.00	\$2,000.00	\$2320.00	\$2,320.00	\$2200.00	\$2,200.00	\$4000.00	\$4,000.00
W28	1" Water Service	2	EA	\$2000.00	\$4,000.00	\$2100.00	\$4,200.00	\$2000.00	\$4,000.00	\$2320.00	\$4,640.00	\$1900.00	\$3,800.00	\$1500.00	\$3,000.00
W29	2" Water Service	5	EA	\$3200.00	\$16,000.00	\$3150.00	\$15,750.00	\$3000.00	\$15,000.00	\$3480.00	\$17,400.00	\$2300.00	\$11,500.00	\$2000.00	\$10,000.00
W30	1" Water Meter and Box	2	EA	\$750.00	\$1,500.00	\$3150.00	\$6,300.00	\$3000.00	\$6,000.00	\$3480.00	\$6,960.00	\$2700.00	\$5,400.00	\$850.00	\$1,700.00
W31	2" Domestic Meter and Box	1	EA	\$1000.00	\$1,000.00	\$4200.00	\$4,200.00	\$4000.00	\$4,000.00	\$4640.00	\$4,640.00	\$4200.00	\$4,200.00	\$1500.00	\$1,500.00
W32	2" Irrigation Meter and Box	4	EA	\$1000.00	\$4,000.00	\$4200.00	\$16,800.00	\$4000.00	\$16,000.00	\$4640.00	\$18,560.00	\$4200.00	\$16,800.00	\$2000.00	\$8,000.00
W33	Trench Safety for Water Improvements	5,622	LF	\$10.00	\$56,220.00	\$1.10	\$6,184.20	\$1.00	\$5,622.00	\$1.16	\$6,521.52	\$2.00	\$11,244.00	\$5.00	\$28,110.00
W34	Automatic Flushing Valve Assembly	1	EA	\$10000.00	\$10,000.00	\$10500.00	\$10,500.00	\$10000.00	\$10,000.00	\$11600.00	\$11,600.00	\$9300.00	\$9,300.00	\$5000.00	\$5,000.00
TOTAL:	BASE BID - WATER SYSTEM IMPROVEMENTS	TOTAL:	-		\$2,245,925.00		\$2,313,740.20		\$2,492,610.00		\$2,547,810.08		\$2,274,067.00		\$2,520,385.00

CITEC	CHECKED BY: Danny Everett, P.E. 01/21/2019			BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6	
					cola & Sons	TISEO PAVI	NG COMPANY	Texas Sterling	Construction, Co.	McMahon C	Contracting LLP	Flow Line	e Construction	F&H C	onstruction
				Excavat	ing, Inc.	1.0201711		T Oxido Otorining	, conduction, con	I		1 10 11 2 11 1		1 3.1 0	men denom
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	·														
BASE B	ID - LANDSCAPE IMPROVEMENTS														
L1	Landscape Repairs	1	LS	\$5100.00	\$5,100.00	\$7000.00	\$7,000.00	\$25000.00	\$25,000.00	\$7540.00	\$7,540.00	\$81000.00	\$81,000.00	\$45000.00	\$45,000.00
L2	Texas Red Oak	62	EA	\$650.00	\$40,300.00	\$650.00	\$40,300.00	\$640.00	\$39,680.00	\$696.00	\$43,152.00	\$800.00	\$49,600.00	\$1100.00	\$68,200.00
L3	Bur Oak	64	EA	\$640.00	\$40,960.00	\$650.00	\$41,600.00	\$641.00	\$41,024.00	\$696.00	\$44,544.00	\$800.00	\$51,200.00	\$1100.00	\$70,400.00
L4	Cedar Elm	53	EA	\$780.00	\$41,340.00	\$650.00	\$34,450.00	\$573.00	\$30,369.00	\$696.00	\$36,888.00	\$800.00	\$42,400.00	\$1100.00	\$58,300.00
L5	Buffalo Sod / native turf	37,966	SY	\$3.00	\$113,898.00	\$7.50	\$284,745.00	\$5.00	\$189,830.00	\$8.58	\$325,748.28	\$6.00	\$227,796.00	\$4.00	\$151,864.00
L6	4" Top Soil for Sod	37,966	SY	\$0.50	\$18,983.00		\$208,813.00		\$75,932.00	\$5.51	\$209,192.66	\$3.00	\$113,898.00	\$4.50	\$170,847.00
TOTAL:	BASE BID - LANDSCAPE IMPROVEMENTS	TOTAL:			\$260,581.00		\$616,908.00		\$401,835.00		\$667,064.94		\$565,894.00		\$564,611.00
Item No.	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
BASE B	ID - IRRIGATION IMPROVEMENTS														
IRR1	Irrigation Repairs (Existing Irrigation System)	1	LS	\$5000.00	\$5,000.00		\$8,000.00	\$12000.00	\$12,000.00	\$8700.00	\$8,700.00	\$39000.00	\$39,000.00	\$30000.00	\$30,000.00
IRR2	Median Irrigation System	1	LS	\$260000.00	\$260,000.00	\$145000.00	\$145,000.00	\$181000.00	\$181,000.00	\$114260.00	\$114,260.00	\$155000.00	\$155,000.00	\$200000.00	\$200,000.00
IRR3	Electrical Services	4	EA	\$500.00	\$2,000.00	\$6600.00	\$26,400.00	\$6200.00	\$24,800.00	\$7192.00	\$28,768.00	\$8000.00	\$32,000.00	\$6500.00	\$26,000.00
TOTAL:	BASE BID - IRRIGATION IMPROVEMENTS	TOTAL:			\$267,000.00		\$179,400.00		\$217,800.00		\$151,728.00		\$226,000.00		\$256,000.00
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.	ID TRAFFIC CICNAL IMPROVEMENTS														
	ID - TRAFFIC SIGNAL IMPROVEMENTS	00	T	¢450.00	\$20,600,00	¢475.00	£44.000.00	¢450.00	¢20,600,00	¢522.00	\$4E 026 00	¢400.00	\$25,200,00	¢450.00	\$20,600,00
TS1	DRILL SHAFT (48 IN)	88	LF	\$450.00	\$39,600.00	\$475.00	\$41,800.00	\$450.00	\$39,600.00	\$522.00	\$45,936.00	\$400.00	\$35,200.00	\$450.00	\$39,600.00
TS2	ELEC CONDUCTOR (NO. 6) INSULATED	303	LF	\$1.50	\$454.50	\$1.60	\$484.80		\$454.50	\$1.74	\$527.22	\$1.00	\$303.00	\$2.00	\$606.00
TS3	ELEC CONDUCTOR (NO. 6) BARE	1,880	LF	\$1.20	\$2,256.00	\$1.30	\$2,444.00		\$2,256.00	\$1.39	\$2,613.20	\$1.00	\$1,880.00	\$2.00	\$3,760.00
TS4	ELEC CONDUCTOR (NO. 8) INSULATED	5,776	LF	\$1.05	\$6,064.80		\$6,353.60			\$1.22	\$7,046.72	\$1.00	\$5,776.00	\$2.00	\$11,552.00
TS5	ELEC CONDUCTOR (NO. 12) INSULATED	1,400	LF	\$0.60	\$840.00		\$980.00		\$840.00	\$0.70	\$980.00	\$1.00	\$1,400.00	\$2.00	\$2,800.00
TS6	ELEC SRV TY D 120/240 070 (NS)AL(E)PS(U)	105	EA	\$2550.00	\$2,550.00		\$2,700.00	\$2500.00	\$2,500.00	\$2900.00	\$2,900.00	\$1400.00	\$1,400.00	\$6500.00	\$6,500.00
TS7	CONDUIT (PVC) (SCHD 40) (2") (TRENCH)	125	LF	\$7.65	\$956.25	\$8.00	\$1,000.00		\$937.50	\$8.70	\$1,087.50	\$8.00	\$1,000.00	\$12.00	\$1,500.00
TS8	CONDUIT (PVC) (SCHD 40) (2") (BORE)	860	LF	\$16.80	\$14,448.00		\$15,480.00		\$14,190.00	\$19.14	\$16,460.40	\$22.00	\$18,920.00	\$30.00	\$25,800.00
TS9	CONDUIT (PVC) (SCHD 40) (3") (TRENCH)	225	LF	\$10.20 \$11.75	\$2,295.00	\$10.50	\$2,362.50		\$2,250.00	\$11.60	\$2,610.00	\$9.00 \$10.00	\$2,025.00	\$15.00	\$3,375.00
TS10	CONDUIT (PVC) (SCHD 40) (4") (TRENCH)  CONDUIT (PVC) (SCHD 40) (4") (BORE)	130 860	LF LF	\$23.40	\$1,527.50	\$12.30 \$25.00	\$1,599.00 \$21,500.00		\$1,521.00	\$13.57 \$26.68	\$1,764.10 \$22,944.80	\$25.00	\$1,300.00 \$31,500.00	\$20.00 \$40.00	\$2,600.00
TS11	INSTALL HWY TRAF SIG (ISOLATED)	2	EA	\$26000.00	\$20,124.00 \$52,000.00			\$25600.00	\$19,780.00 \$51,200.00	\$29696.00	\$59,392.00	\$29000.00	\$21,500.00 \$58,000.00	\$35000.00	\$34,400.00 \$70,000.00
TS12	REMOVING TRAFFIC SIGNALS	1	EA	\$26000.00	\$52,000.00		\$53,760.00 \$790.00	\$25000.00	\$51,200.00	\$870.00	\$39,392.00	\$5000.00	\$5,000.00	\$5000.00	\$5,000.00
TS13	PED POLE ASSEMBLY	5	EA	\$2300.00	\$11,500.00	\$2352.00	\$11,760.00	\$2240.00	\$11,200.00	\$2598.40	\$12,992.00	\$1600.00	\$8,000.00	\$2850.00	\$14,250.00
TS14	PEDESTRIAN PUSH BUTTON POLE	2	EA	\$2000.00	\$6,000.00	-	\$6,000.00	\$1900.00	\$11,200.00	\$2396.40	\$6,612.00	\$1400.00	\$4,200.00	\$1850.00	\$5,550.00
TS15		0										\$1000.00			
TS16	ACCESSIBLE PEDESTRIAN SIGNAL UNITS ACCESSIBLE PEDESTRIAN SIGNAL CONTROLLER	1	EA EA	\$900.00 \$4100.00	\$7,200.00 \$4,100.00	\$919.00 \$4200.00	\$7,352.00	\$875.00 \$4000.00	\$7,000.00 \$4,000.00	\$1015.00 \$4640.00	\$8,120.00 \$4,640.00	\$3900.00	\$8,000.00 \$3,900.00	\$2850.00 \$5000.00	\$22,800.00 \$5,000.00
TS17	TRF SIG CBL (TY A) (14 AWG) (5 CONDR)	567	LF	\$4100.00 \$1.25	\$4,100.00 \$708.75		\$4,200.00 \$765.45			\$4640.00 \$1.45	\$4,640.00 \$822.15	\$3900.00	\$3,900.00		\$5,000.00
TS18	TRF SIG CBL (TY A) (14 AWG) (5 CONDR)	486	LF	\$1.25	\$708.75		\$777.60		\$708.75 \$729.00	\$1.45	\$845.64	\$2.00	\$972.00	\$2.00	\$972.00
TS19	TRF SIG CBL (TY A) (14 AWG) (7 CONDR)	1,025	LF	\$3.50	\$3,587.50		\$3,792.50		\$3,587.50	\$1.74	\$4,161.50	\$2.00	\$2,050.00		\$2,050.00
TS20	TRF SIG CBL (TY A) (14 AWG) (10 CONDR)	1,025		\$3.50	\$6,920.00				\$3,587.50	\$4.06 \$4.64	\$8,027.20	\$2.00 \$4.50			\$2,050.00
TS21	, , , , , , , , , , , , , , , , , , , ,	·	LF	\$4.00 \$1.40			\$7,266.00			\$4.64 \$1.62		\$4.50 \$2.00	\$7,785.00 \$3,644.00		
TS22	TRF SIG CBL (TY C) (12 AWG) (2 CONDR)	1,822	LF		\$2,550.80	\$1.50 \$840.00	\$2,733.00				\$2,951.64		\$3,644.00		\$3,644.00
TS23	GROUND BOX TY C (162911) W/APRON	б	EA	\$815.00	\$4,890.00 \$4,000.00	·	\$5,040.00		\$4,800.00 \$4,800.00	\$928.00	\$5,568.00	\$550.00	\$3,300.00	\$850.00	\$5,100.00
TOTAL:	BASE BID - TRAFFIC SIGNAL IMPROVEMENTS				\$192,067.10		\$200,940.45		\$189,539.85		\$219,872.07		\$196,689.00		\$271,453.00

			BIDDER 1		BIDDER 2		BIDDER 3		BIDDER 4		BIDDER 5		BIDDER 6		
			Mario Sinacola & Sons Excavating, Inc.		TISEO PAVING COMPANY		Texas Sterling Construction, Co.		McMahon Contracting LLP		Flow Line Construction		F&H Construction		
Item	Item Description	Quantity	Unit	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost	Unit Price	Item Cost
No.															
BASE B	BID - ILLUMINATION IMPROVEMENTS														
RI1	DRILL SHAFT (RDWY ILL POLE) (30 IN)	512	LF	\$190.00	\$97,280.00	\$200.00	\$102,400.00	\$190.00	\$97,280.00	\$220.40	\$112,844.80	\$360.00	\$184,320.00	\$312.00	\$159,744.00
RI2	ELEC CONDUCTOR (NO. 6) INSULATED	21,564	LF	\$1.50	\$32,346.00	\$1.60	\$34,502.40	\$1.50	\$32,346.00	\$1.74	\$37,521.36	\$1.00	\$21,564.00	\$2.00	\$43,128.00
RI3	ELEC CONDUCTOR (NO. 6) BARE	10,782	LF	\$1.20	\$12,938.40	\$1.30	\$14,016.60	\$1.20	\$12,938.40	\$1.39	\$14,986.98	\$1.00	\$10,782.00	\$2.00	\$21,564.00
RI4	ELEC SRV TY A 240/480 100 (NS)AL(E)PS(U)	3	EA	\$6200.00	\$18,600.00	\$6510.00	\$19,530.00	\$6200.00	\$18,600.00	\$7192.00	\$21,576.00	\$8000.00	\$24,000.00	\$6500.00	\$19,500.00
RI5	ILLUMINATION POLE	64	EA	\$3000.00	\$192,000.00	\$3000.00	\$192,000.00	\$2825.00	\$180,800.00	\$3277.00	\$209,728.00	\$3600.00	\$230,400.00	\$3850.00	\$246,400.00
RI6	LED FIXTURES (TYPE III) INSTALL ONLY	128	EA	\$150.00	\$19,200.00	\$160.00	\$20,480.00	\$150.00	\$19,200.00	\$174.00	\$22,272.00	\$230.00	\$29,440.00	\$500.00	\$64,000.00
RI7	CONDUIT (PVC) (SCHD 40) (2") (TRENCH)	8,822	Ŀ	\$7.50	\$66,165.00	\$8.00	\$70,576.00	\$7.50	\$66,165.00	\$8.70	\$76,751.40	\$9.00	\$79,398.00	\$12.00	\$105,864.00
RI8	CONDUIT (PVC) (SCHD 40) (2") (BORE)	1,630	LF	\$16.50	\$26,895.00	\$18.00	\$29,340.00	\$16.50	\$26,895.00	\$19.14	\$31,198.20	\$24.00	\$39,120.00	\$30.00	\$48,900.00
	GROUND BOX TY A (122311) W/APRON	25	EA	\$800.00	\$20,000.00	\$840.00	\$21,000.00	\$800.00	\$20,000.00	\$928.00	\$23,200.00	\$760.00	\$19,000.00	\$850.00	\$21,250.00
TOTAL:	BASE BID - ILLUMINATION IMPROVEMENTS				\$485,424.40		\$503,845.00		\$474,224.40		\$550,078.74		\$638,024.00		\$730,350.00

	Mario Sinacola & Sons Excavating, Inc.	TISEO PAVING COMPANY	Texas Sterling Construction, Co.	McMahon Contracting LLP	Flow Line Construction	F&H Construction
BASE BID - PAVING IMPROVEMENTS	\$ 2,611,844.45	\$ 3,079,794.20	\$ 3,325,768.70	\$ 3,074,623.16	\$ 3,776,672.00	\$ 3,724,204.50
BASE BID - STORM SYSTEM IMPROVEMENTS	\$ 1,106,390.00	\$ 1,166,978.00	\$ 1,297,494.00	\$ 1,213,239.71	\$ 1,783,930.00	\$ 1,623,545.00
BASE BID - WATER SYSTEM IMPROVEMENTS	\$ 2,245,925.00	\$ 2,313,740.20	\$ 2,492,610.00	\$ 2,547,810.08	\$ 2,274,067.00	\$ 2,520,385.00
BASE BID - LANDSCAPE IMPROVEMENTS	\$ 260,581.00	\$ 616,908.00	\$ 401,835.00	\$ 667,064.94	\$ 565,894.00	\$ 564,611.00
BASE BID - IRRIGATION IMPROVEMENTS	\$ 267,000.00	\$ 179,400.00	\$ 217,800.00	\$ 151,728.00	\$ 226,000.00	\$ 256,000.00
BASE BID - TRAFFIC SIGNAL IMPROVEMENTS	\$ 192,067.10	\$ 200,940.45	\$ 189,539.85	\$ 219,872.07	\$ 196,689.00	\$ 271,453.00
BASE BID - ILLUMINATION IMPROVEMENTS	\$ 485,424.40	\$ 503,845.00	\$ 474,224.40	\$ 550,078.74	\$ 638,024.00	\$ 730,350.00
TOTAL BASE BID	\$7,169,231.95	\$8,061,605.85	\$8,399,271.95	\$8,424,416.70	\$9,461,276.00	\$9,690,548.50